
                           

Formula for calculation of arrears from 1-1-2006 to 31-12-2015 (10 years) 

     Minimum Pension admissible as per OM dated 6-4-2016                                                  

minus the existing pension & difference multiplied by 181.74 

                                                                                           

                                                              EXAMPLES 

Grade 6
th

 CPC Pay 

band 

Grade 

Pay 

Service Minimum pension 

due  as per OM 

dated 6-4-2016 as 

indicated in col. 9 

of OM dated                 

28-1-2013 and  

In column No.5 of 

the table in page- 

Existing Pro-

rata pension 

computed 

for less than 

33 years of 

service as 

per para 4.2       

or 

consolidated 

as per para 

4.1 

whichever is 

more 

Difference 

 

(Amount in 

column 5 

minus  
Amount in 

column 6) 

Arrears from 

1-1-2006 to  

31-12-2015. 

 

(Amount in Col 

7 multiplied by 

181.74) 

1 2 3 4 5 6 7 8 

  

 
 Years Rs. Rs. Rs. Rs. 

S-7 5200-20200 

 
2400 30 4920 4645 275 49,979 

 

S-8 5200-20200 2800 29 5585 5464 121 21,991 

S-10 
9300-34800 

4200 24 7215 5248 1967 3,57,482 

S-18 15600-39100
 6600 30.5 12600 12239 361 65,608 

S-24 37400-67000 8700 31 23050 21654 1396 2,53,710 

S-31 75500-80000     0 18.5 37750 21163 16587 30,14,522 

 

(Inputs of the above examples are as given by the pensioner beneficiary. 

Hence, the examples are live examples ) 

Note 1. Amount of arrears indicated in Col 8 may vary by about Rs.50 due to 

rounding off of fraction of a rupee to the next rupee 

Note 2. Formula for computation of arrears is devised for the period from                              

1-1-2006 to 31-12-2015 only, since the basic pension is due for revision            

from 1-1-2016 under 7
th

 CPC. 


